We’d like to determine the form of our capacitor voltage Vc as either overdamped, underdamped, or critically damped.
So for a quick summary here, we find our two key constants of the circuit, we compare these values, and we have equations that describe what these values are.

We then consider each of the three possibilities of α being less than, equal to, or greater than omega not.

So I’ll begin by finding the square value of omega not.

[math equations]

So we have 2 million.  The units are radians per second quantity squared.

Our value for alpha depends on whether we’re looking at a parallel or series RLC circuit.

In this case we have a parallel circuit.

[math equations]

The units are the reciprocal of seconds.

Alpha squared then is 1 million.

As we compare the values we see that alpha squared is less than omega not squared.

Based on this comparison, we conclude that we have an underdamped response.

